HAE  :2024.11.20 17:23
1LAE [=XK&1
BEEAEH B :20244E11 H20H (K)
o2 R¥ 0.5 RN T CHEME18.0 AcfE18.0 FLA—/: oUT2 3 5 6 8
IN10 11 12 14 15 16
RS WIREA YT Z2aF7THw ko %— 3
= —2  :0UT IN 2PN~ D HMS2 N SN AEFI0AN
NENIRE T A by
NAAZ | 2 K4 OUT | IN |GROSS| HDCP | NET |cnossuii eSS NGAL | 2N K4 OUT | IN |GROSS| HDCP | NET |arossii {5
L/ha Bk 39 39] 4.8 [34.2 51/ H #— 51 51/ 13.2 [37.8
2|FHBAS W HE 36 36| 1.2 ]34.8 52| FER FEME 38 38/ 0.0 |38.0
3|F ' 48 48/ 13.2 |34.8 53K H)I T 44 44 6.0 |38.0
4|55 5LE 42 42] 7.2 |34.8 54| KF) BT 44 44 6.0 |38.0
5 #R R 40 40| 4.8 |35.2 55| fEHl A 44 44| 6.0 |138.0
6 BN & 43 43| 7.2 |35.8 56| EERE 50 50/ 12.0 |38.0
TVHHE % 43 43| 7.2 |35.8 57| AT FEfe T 50 50/ 12.0 |38.0
8| Kt 18— 43 43| 7.2 |35.8 58| LR & 44 44 6.0 |38.0
9%+ KT 43 43| 7.2 135.8 59| R STk 49 49/ 10.8 |38.2
10| #KJ FE& 49 49/ 13.2 | 35.8 60|t B 49 49/ 10.8 |38.2
11 fRH kA 49 49/ 13.2 | 35.8 61| [KF Tk 42 42| 3.6 |38.4
12| & Az 42 42| 6.0 |36.0 62|50 IE— 42 42| 3.6 |38.4
137k HKRR 42 42| 6.0 |136.0 63| AR 5 42 42| 3.6 |38.4
14| =k 47 47/10.8 |36.2 64| KN ER 48 48| 9.6 |38.4
15|57 10 1TH#E 40 40| 3.6 |36.4 65 B SR 54 54| 15.6 |38.4
16|71 HER 40 40| 3.6 |36.4 66| % H @R 48 48| 9.6 |38.4
17| KBE fEIR 40 40| 3.6 |36.4 6757 H)Il FnB 47 47| 8.4 |38.6
18|{vm FEAL 7 46 46| 9.6 |36.4 634 =5 47 47] 8.4 |38.6
19/ &R Jh 39 39 2.4 |36.6 69 FEEH JaT 53 53/ 14.4 |38.6
20| B bR HESE 45 45| 8.4 |36.6 T0|¥TH BEE 46 46| 7.2 |38.8
21|58 45 45| 8.4 |36.6 T1ARE 45 45| 6.0 [39.0
22|48 $EE 45 45| 8.4 [36.6 72|/ AHE 45 45| 6.0 [39.0
23 K b il 45 45| 8.4 |36.6 T3RE ®HT 51 51112.0 [39.0
24 |fRIE T 45 45| 8.4 |36.6 41 =R 44 44| 4.8 |39.2
25 | B fdtAsf 38 38/ 1.2 |36.8 7541 SCHE 44 44| 4.8 139.2
26 | Ak — K 44 44) 7.2 |36.8 76|20 Yh— 49 49| 9.6 [39.4
26 " H # 44 44 7.2 |36.8 TN 48 48| 8.4 139.6
28 B[ # 38 38| 1.2 [36.8 78| ILEFHE IR 42 42| 2.4 39.6
29 1% HH 38 38] 1.2 |36.8 9/NE Fn% 48 48| 8.4 [39.6
30| K& Hik 43 43] 6.0 |37.0 80| A1 2 =] 48 48| 8.4 [39.6
31/ & 43 43| 6.0 |37.0 81| L 48 48| 8.4 139.6
32|HH BEH 49 49]12.0 |37.0 82| |H 53 53/ 13.2 [39.8
33| HK FEHEH 49 49/12.0 |37.0 83|HH ER 53 53/ 13.2 [39.8
34[3E7T F1Bh 43 43| 6.0 [37.0 84| +H I1EiA 46 46| 6.0 |40.0
35 )14 #% 36 36| -1.2 |37.2 85/hH I 51 51| 10.8 |40.2
36| EF = 42 42| 4.8 [37.2 86| N f&& 47 47 6.0 [41.0
37| 1Ry 8% 48 48/10.8 |37.2 877 H 51 51| 9.6 [41.4
38|k AiE 48 48]10.8 |37.2 88| FET 54 54/ 12.0 [42.0
39| =Ry & 41 41] 3.6 |37.4 89|l FEkE 47 47| 4.8 142.2
40|22 B BT 41 41| 3.6 |37.4 90 | fnJR FETR 51 51| 7.2 |43.8
41 |82 SF 41 41| 3.6 [37.4
42177 41 41| 3.6 [37.4
43 FHBE FER 40 40| 2.4 137.6
44|HH FHE 40 40| 2.4 [37.6
45 | FR3E AR 40 40| 2.4 |37.6
46 )1l FE 46 46| 8.4 |37.6
47 R I 46 46| 8.4 |37.6
48O B 46 46| 8.4 |37.6
49| FH AR ER 46 46| 8.4 |37.6
50 B 1 fd# 45 45| 7.2 ]37.8
1/ 1 HEN B BRABETILERE




